# A note on Konhauser matrix polynomials 

Ayman Shehata<br>Communicated by Ayman Badawi

MSC 2010 Classifications: Primary 33C45; Secondary 15A60.
Keywords and phrases: Konhauser matrix polynomials; Operational formulas; Generating matrix functions.

I would like to express my sincere gratitude to Dr. Shimaa Ibrahim Moustafa Abdal-Rahman, (Department of Mathematics, Faculty of Science, Assiut University, Assiut 71516, Egypt) for her kind interest, interesting conversations, help, encouragements, suggestions and valuable comments.


#### Abstract

In this study, some new and known finite sums, operational formulas and generating matrix relations for Konhauser matrix polynomials of the second kind are given.


## 1 Introduction and Preliminaries

For various extensions of the properties of Konhauser matrix polynomials are motivated by researchers, the reader may be recalled in $[1,4,5,6,7,8,9,10,11,12,13]$. Motivated by these contributions, the aim of this study is to obtain new and known interesting results of Konhauser matrix polynomials and also to prove the results involving an infinite series, finite sums, operational formulas and generating matrix relations of these matrix polynomials.

Throughout this paper, its spectrum $\sigma(A)$ symbolizes the set of all eigenvalues of a matrix $A$ in $\mathbb{C}^{N \times N}$.

Definition 1.1. If $P$ is a positive stable matrix in $\mathbb{C}^{N \times N}$, then Jódar and Cortés [2] defined the Gamma matrix function $\Gamma(P)$ as

$$
\Gamma(P)=\int_{0}^{\infty} e^{-t} t^{P-I} d t ; \quad t^{P-I}=\exp ((P-I) \ln t)
$$

where $I$ symbolize the identity matrix in $\mathbb{C}^{N \times N}$.
Definition 1.2. For $A \in \mathbb{C}^{N \times N}$, Jódar and Cortés [3] defined the following Pochhammer symbol or shifted factorial as

$$
(A)_{n}=A(A+I)(A+2 I) \ldots(A+(n-1) I)=\Gamma(A+n I) \Gamma^{-1}(A) ; \quad n \geq 1 ; \quad(A)_{0}=I
$$

where $\Gamma(A)$ is an invertible matrix, its inverse coincides with $\Gamma^{-1}(A)$ such that $\sigma(A) \cap \mathbb{Z}_{\leq 0}=\emptyset$.
Recently, Varma et al. [12] defined the following Konhauser matrix polynomials of the second kind as:

$$
\begin{equation*}
Y_{n}^{(A, \lambda)}(x ; k)=\frac{1}{n!} \sum_{r=0}^{n} \sum_{s=0}^{r} \frac{(-1)^{s}(\lambda x)^{r}}{s!(r-s)!}\left(\frac{1}{k}((s+1) I+A)\right)_{n} \tag{1.1}
\end{equation*}
$$

where $A$ is a matrix in $\mathbb{C}^{N \times N}$ such that the condition

$$
\begin{equation*}
\operatorname{Re}(\mu)>-1, \quad \text { for all eigenvalues } \mu \in \sigma(A) \tag{1.2}
\end{equation*}
$$

where $\lambda$ is a complex number with $\operatorname{Re}(\lambda)>0, k \in \mathbb{N}=\mathbb{Z}^{+}=\{1,2,3, \ldots\}$ in [12]. Varma et al. [12] introduced the generating matrix function for Konhauser matrix polynomials of the second kind as

$$
\begin{equation*}
\sum_{n=0}^{\infty} Y_{n}^{(A, \lambda)}(x ; k) t^{n}=(1-t)^{-\frac{1}{k}(A+I)} \exp \left[\lambda x\left[1-(1-t)^{-\frac{1}{k}}\right]\right] ;|t|<1 \tag{1.3}
\end{equation*}
$$

Recently, Shehata [8] obtained the Rodrigues formula for Konhauser matrix polynomials $Y_{n}^{(A, \lambda)}(x ; k)$ as

$$
\begin{equation*}
Y_{n}^{(A, \lambda)}(x ; k)=\frac{1}{n!k^{n}} x^{-A-(k n+1) I} \exp (\lambda x)\left(x^{k+1} D\right)^{n}\left[x^{A+I} \exp (-\lambda x)\right] ; D=\frac{d}{d x} \tag{1.4}
\end{equation*}
$$

## 2 Some new results of Konhauser matrix polynomials

Here, we apply the generating matrix function of Konhauser matrix polynomials to obtain an infinite series, finite sums, operational formulas and generating matrix relations for $Y_{n}^{(A, \lambda)}(x ; k)$ with taking matrices the condition (1.2) is realized. The results to be obtained from our main findings are given in the following theorems.

Theorem 2.1. Konhauser matrix polynomials $Y_{n}^{(A, \lambda)}(x ; k)$ satisfy the summation formula

$$
\begin{equation*}
Y_{n}^{(A, \lambda)}(x ; k)=\sum_{r=0}^{n} \frac{1}{r!}\left(\frac{1}{k}(A-B)\right)_{r} Y_{n-r}^{(B+k r I, \lambda)}(x ; k), \tag{2.1}
\end{equation*}
$$

where the matrices $A$ and $B+k r I$ for $k \in \mathbb{N}$ and $r=\mathbb{N} \cup 0=\mathbb{N}_{\nvdash}$ in $\mathbb{C}^{N \times N}$ satisfying the condition (1.2).

Proof. Note that, we have the relation

$$
\begin{aligned}
& (1-t)^{-\frac{1}{k}(A+I)}=(1-t)^{-\frac{1}{k}(A-B)}(1-t)^{-\frac{1}{k}(B+I)} \\
& =(1-t)^{-\frac{1}{k}(B+I)} \sum_{r=0}^{\infty} \frac{(-1)^{r}}{r!}\left(\frac{1}{k}(B-A)\right)_{r}\left(\frac{t}{1-t}\right)^{r} \\
& =\sum_{r=0}^{\infty} \frac{(-1)^{r}}{r!}\left(\frac{1}{k}(B-A)\right)_{r}(1-t)^{-\frac{1}{k}(B+(r k+1) I)} t^{r}
\end{aligned}
$$

From the generating matrix function (1.3) and the above relation, we observe

$$
\begin{aligned}
& (1-t)^{-\frac{1}{k}(A+I)} \exp \left[\lambda x\left(1-(1-t)^{-\frac{1}{k}}\right)\right] \\
& =\sum_{n, r=0}^{\infty} \frac{(-1)^{r}}{r!}\left(\frac{1}{k}(B-A)\right)_{r} Y_{n}^{(B+r k I, \lambda)}(x ; k) t^{n+r} \\
& =\sum_{n=0}^{\infty} \sum_{r=0}^{n} \frac{1}{r!}\left(\frac{1}{k}(A-B)\right)_{r} Y_{n-r}^{(B+r k I, \lambda)}(x ; k) t^{n}
\end{aligned}
$$

whence we obtain

$$
\sum_{n=0}^{\infty} Y_{n}^{(A, \lambda)}(x ; k) t^{n}=\sum_{n=0}^{\infty} \sum_{r=0}^{n} \frac{1}{r!}\left(\frac{1}{k}(A-B)\right)_{r} Y_{n-r}^{(B+r k I, \lambda)}(x ; k) t^{n}
$$

Comparing the coefficients of $t^{n}$ in the last equation, we obtain the desired relation (2.1).

As the approach in the proof Theorem 2.1, one can easily see the next results.
Theorem 2.2. The following are the finite sums for the Konhauser matrix polynomials :

$$
\begin{equation*}
Y_{n}^{(A, \lambda)}(x ; k)=\sum_{r=0}^{n-1} \frac{(-1)^{r}(n-1)!}{r!(n-r-1)!} Y_{n-r}^{(A+(k n-k) I, \lambda)}(x ; k) \tag{2.2}
\end{equation*}
$$

and

$$
\begin{equation*}
Y_{n}^{(A, \lambda)}(x ; k)=\sum_{r=0}^{n-1} \frac{(n-1)!}{r!(n-r-1)!} Y_{n-r}^{(A+(k-k n+k r) I, \lambda)}(x ; k) \tag{2.3}
\end{equation*}
$$

Now, we give various generating matrix relations for the Konhauser matrix polynomials in the following theorem.

Theorem 2.3. The following generating matrix relations for Konhauser matrix polynomials hold:

$$
\begin{equation*}
\sum_{n=0}^{\infty} Y_{n}^{(A-k n I, \lambda)}(x ; k)=(1+t)^{\frac{1}{k}(A-(k-1) I)} \exp \left[\lambda x\left(1-(1+t)^{\frac{1}{k}}\right)\right] \tag{2.4}
\end{equation*}
$$

and

$$
\begin{align*}
& \sum_{n=0}^{\infty} \frac{(n+r)!}{n!r!} Y_{n+r}^{(A-k n I, \lambda)}(x ; k)  \tag{2.5}\\
& =(1+t)^{\frac{1}{k}(A-(k-1) I)} \exp \left[\lambda x\left(1-(1+t)^{\frac{1}{k}}\right)\right] Y_{r}^{(A, \lambda)}\left(x(1+t)^{\frac{1}{k}} ; k\right) .
\end{align*}
$$

Proof. From (1.4) and putting $u=x^{-k}$, we have

$$
\begin{aligned}
& \sum_{n=0}^{\infty} Y_{n}^{(A-k n I, \lambda)}(x ; k) t^{n}=\sum_{n=0}^{\infty} \frac{1}{n!k^{n}} x^{-A-I} \exp (\lambda x)\left(x^{k+1} D\right)^{n}\left[x^{A-(k n-1) I} \exp (-\lambda x)\right] t^{n} \\
& =x^{-A-I} \exp (\lambda x) \sum_{n=0}^{\infty} \frac{t^{n}}{n!} \frac{d^{n}}{d u^{n}}\left[u^{-\frac{1}{k}(A+I)+n I} \exp \left(-\lambda u^{-\frac{1}{k}}\right)\right]
\end{aligned}
$$

Using Lagrange theorem, we get

$$
\begin{aligned}
& \sum_{n=0}^{\infty} Y_{n}^{(A-k n I, \lambda)}(x ; k) t^{n} \\
& =x^{-A-I} \exp (\lambda x)\left[\left(u(1+t)^{-1}\right)^{-\frac{1}{k}(A+I)+n I} \exp \left(-\lambda\left(u(1+t)^{-1}\right)^{-\frac{1}{k}}\right)\right](1+t)^{-1} \\
& =(1+t)^{\frac{1}{k}(A-(k-1) I)} \exp \left[\lambda x\left(1-(1+t)^{\frac{1}{k}}\right)\right]
\end{aligned}
$$

which proves (2.4).
Again consider the left hand side of (2.5) and letting $u=x^{-k}$, we have

$$
\begin{aligned}
& \sum_{n=0}^{\infty} \frac{(n+r)!}{n!r!} Y_{n+r}^{(A-k n I, \lambda)}(x ; k) t^{n} \\
& =\sum_{n=0}^{\infty} \frac{(n+r)!}{n!r!(n+r)!k^{n+r}} x^{-A-(k r+1) I} \exp (\lambda x)\left(x^{k+1} D\right)^{n+r}\left[x^{A-(k n-1) I} \exp (-\lambda x)\right] t^{n} \\
& =\frac{1}{r!k^{r}} x^{-A-(k r+1) I} \exp (\lambda x)\left(x^{k+1} D\right)^{r} \sum_{n=0}^{\infty} \frac{t^{n}}{n!} \frac{d^{n}}{d u^{n}}\left[u^{-\frac{1}{k}(A+I)+n I} \exp \left(-\lambda u^{-\frac{1}{k}}\right)\right]
\end{aligned}
$$

Using Lagrange theorem, we get

$$
\begin{aligned}
& \sum_{n=0}^{\infty} \frac{(n+r)!}{n!r!} Y_{n+r}^{(A-k n I, \lambda)}(x ; k) t^{n} \\
& =\frac{1}{r!k^{r}} x^{-A-(k r+1) I} \exp (\lambda x)\left(x^{k+1} D\right)^{r}\left[\left(u(1+t)^{-1}\right)^{-\frac{1}{k}(A+I)} \exp \left(-\lambda\left(u(1+t)^{-1}\right)^{-\frac{1}{k}}\right)\right](1+t)^{-1} \\
& =(1+t)^{\frac{1}{k}(A-(k-1) I)} \exp \left[\lambda x\left(1-(1+t)^{\frac{1}{k}}\right)\right] Y_{r}^{(A, \lambda)}\left(x(1+t)^{\frac{1}{k}} ; k\right)
\end{aligned}
$$

which proves (2.5).
Theorem 2.4. The following result for Konhauser matrix polynomials holds true

$$
\begin{equation*}
D Y_{n}^{(A, \lambda)}(x ; k)=\lambda Y_{n}^{(A, \lambda)}(x ; k)-\lambda \sum_{m=0}^{n} \frac{1}{m!}\left(\frac{1}{k}\right)_{m} Y_{n-m}^{(A, \lambda)}(x ; k) \tag{2.6}
\end{equation*}
$$

Proof. Differentiating both sides in (1.3) with respect to $x$, we get

$$
\begin{aligned}
& \sum_{n=0}^{\infty} \frac{\partial}{\partial x} Y_{n}^{(A, \lambda)}(x ; k) t^{n}=\left[\lambda\left[1-(1-t)^{-\frac{1}{k}}\right]\right](1-t)^{-\frac{1}{k}(A+I)} \exp \left[\lambda x\left[1-(1-t)^{-\frac{1}{k}}\right]\right] \\
& =\lambda \sum_{n=0}^{\infty} Y_{n}^{(A, \lambda)}(x ; k) t^{n}-\lambda \sum_{n=0}^{\infty} \sum_{m=0}^{\infty} \frac{1}{m!}\left(\frac{1}{k}\right)_{m} Y_{n}^{(A, \lambda)}(x ; k) t^{n+m} \\
& =\lambda \sum_{n=0}^{\infty} Y_{n}^{(A, \lambda)}(x ; k) t^{n}-\lambda \sum_{n=0}^{\infty} \sum_{m=0}^{n} \frac{1}{m!}\left(\frac{1}{k}\right)_{m} Y_{n-m}^{(A, \lambda)}(x ; k) t^{n}
\end{aligned}
$$

which upon equating the coefficients of $t^{n}$, yields the desired result.
Theorem 2.5. The following formula for Konhauser matrix polynomials holds true

$$
\begin{equation*}
(n+1) Y_{n+1}^{(A, \lambda)}(x ; k)=\sum_{m=0}^{n} \frac{1}{k}\left[A+I-\frac{\lambda x}{m!}\left(\frac{1+k}{k}\right)_{m} I\right] Y_{n-m}^{(A, \lambda)}(x ; k) \tag{2.7}
\end{equation*}
$$

Proof. Differentiating both sides in (1.3) with respect to $t$, we get

$$
\begin{aligned}
& \sum_{n=1}^{\infty} n Y_{n}^{(A, \lambda)}(x ; k) t^{n-1}=\frac{1}{k}(A+I)(1-t)^{-\frac{1}{k}(A+I)-I} \exp \left[\lambda x\left[1-(1-t)^{-\frac{1}{k}}\right]\right] \\
& -\frac{\lambda x}{k}(1-t)^{-\frac{1+k}{k}}(1-t)^{-\frac{1}{k}(A+I)} \exp \left[\lambda x\left[1-(1-t)^{-\frac{1}{k}}\right]\right] \\
& =\frac{1}{k}(A+I) \sum_{n=0}^{\infty} \sum_{m=0}^{n} Y_{n-m}^{(A, \lambda)}(x ; k)-\frac{\lambda x}{k} \sum_{n=0}^{\infty} \sum_{p=0}^{n} \frac{1}{p!}\left(\frac{1+k}{k}\right)_{p} Y_{n-p}^{(A, \lambda)}(x ; k) t^{n} \\
& =\sum_{n=0}^{\infty} \sum_{m=0}^{n}\left[\frac{1}{k}(A+I)-\frac{\lambda x}{k} \frac{1}{m!}\left(\frac{1+k}{k}\right)_{m} I\right] Y_{n-m}^{(A, \lambda)}(x ; k) t^{n} .
\end{aligned}
$$

Comparing the coefficients of $t^{n}$, we arrive the desired result.
Theorem 2.6. The following interesting identities for Konhauser matrix polynomials hold true

$$
\begin{equation*}
Y_{n}^{(A, \lambda)}(x ; k)=\frac{1}{n!k^{n}} \prod_{m=0}^{n-1}(x(D-\lambda) I+A+(m k+1) I) \tag{2.8}
\end{equation*}
$$

and

$$
\begin{equation*}
\sum_{m=0}^{n} \frac{n!}{m!}\left(k^{n-m} x^{-m k} Y_{n-m}^{(A, \lambda)}(x ; k)\right)\left(x^{k+1} D\right)^{m}=\prod_{m=0}^{n-1}(x(D-\lambda) I+A+(m k+1) I) . \tag{2.9}
\end{equation*}
$$

Proof. Since and repeating this process upto $n$ times, we get

$$
\begin{aligned}
& \left(x^{k+1} D\right)^{n}\left[\left(x^{A+I} e^{-\lambda x}\right) f\right]=\left(x^{k+1} D\right)^{n-1}\left(x^{k+1} D\right)\left[\left(x^{A+I} e^{-\lambda x}\right) f\right] \\
& =\left(x^{k+1} D\right)^{n-1} x^{k+1}\left[(A+I)\left(x^{A} e^{-\lambda x}\right) f-\lambda\left(x^{A+I} e^{-\lambda x}\right) f+\left(x^{A+I} e^{-\lambda x}\right) D f\right] \\
& =\left(x^{k+1} D\right)^{n-1}\left[\left(x^{A+(k+1) I} e^{-\lambda x}\right)(x D-\lambda x I+A+I) f\right] \\
& =\left(x^{k+1} D\right)^{n-2} x^{k+1}\left[(A+(k+1) I)\left(x^{A+k I} e^{-\lambda x}\right)-\lambda\left(x^{A+(k+1) I} e^{-\lambda x}\right)\right. \\
& \left.\quad+\left(x^{A+(k+1) I} e^{-\lambda x}\right) D(x D-\lambda x I+A+I) f\right] \\
& =\left(x^{k+1} D\right)^{n-2}\left[\left(x^{A+(2 k+1) I} e^{-\lambda x}\right)(x D I-\lambda x I+A+(k+1) I)(x D I-\lambda x I+A+I) f\right] \\
& =\left[\left(x^{A+(n k+1) I} e^{-\lambda x}\right)(x D I-\lambda x I+A+((n-1) k+1) I) \ldots(x D I-\lambda x I+A+(2 k+1) I)\right. \\
& (x D I-\lambda x I+A+(k+1) I)(x D I-\lambda x I+A+I) f] .
\end{aligned}
$$

Thus, we derive

$$
\begin{equation*}
\left(x^{k+1} D\right)^{n}\left[\left(x^{A+I} e^{-\lambda x}\right) f\right]=\left(x^{A+(n k+1) I} e^{-\lambda x}\right) \prod_{m=0}^{n-1}(x(D-\lambda) I+A+(m k+1) I) f \tag{2.10}
\end{equation*}
$$

When $f=1$, we have

$$
\begin{equation*}
\left(x^{k+1} D\right)^{n}\left(x^{A+I} e^{-\lambda x}\right)=\left(x^{A+(n k+1) I} e^{-\lambda x}\right) \prod_{m=0}^{n-1}(x(D-\lambda) I+A+(m k+1) I) \tag{2.11}
\end{equation*}
$$

From (1.4) and (2.11), we obtain

$$
n!k^{n} x^{A+(k n+1) I} e^{-\lambda x} Y_{n}^{(A, \lambda)}(x ; k)=\left(x^{A+(n k+1) I} e^{-\lambda x}\right) \prod_{m=0}^{n-1}(x(D-\lambda) I+A+(m k+1) I)
$$

## Hence

$$
Y_{n}^{(A, \lambda)}(x ; k)=\frac{1}{n!k^{n}} \prod_{m=0}^{n-1}(x(D-\lambda) I+A+(m k+1) I)
$$

which proves (2.8)

Using Leibnitz rule of differentiation and (2.10), we have

$$
\begin{align*}
& \left(x^{k+1} D\right)^{n}\left[\left(x^{A+I} e^{-\lambda x}\right) f\right]=\sum_{m=0}^{n} \frac{n!}{m!(n-m)!}\left(x^{k+1} D\right)^{n-m}\left(x^{A+I} e^{-\lambda x}\right)\left(x^{k+1} D\right)^{m} f \\
& =\sum_{m=0}^{n} \frac{n!}{m!}\left(k^{n-m} x^{A+(k(n-m)+1) I} \exp (-\lambda x) Y_{n-m}^{(A, \lambda)}(x ; k)\right)\left(x^{k+1} D\right)^{m} f \tag{2.12}
\end{align*}
$$

From (2.10) and (2.12), we get the operational formula

$$
\begin{align*}
& \sum_{m=0}^{n} \frac{n!}{m!}\left(k^{n-m} x^{A+(k(n-m)+1) I} \exp (-\lambda x) Y_{n-m}^{(A, \lambda)}(x ; k)\right)\left(x^{k+1} D\right)^{m} f \\
& =\left(x^{A+(n k+1) I} e^{-\lambda x}\right) \prod_{m=0}^{n-1}(x(D-\lambda) I+A+(m k+1) I) f \tag{2.13}
\end{align*}
$$

When $f=1$ in the above equation, we get

$$
\begin{aligned}
& \sum_{m=0}^{n} \frac{n!}{m!}\left(k^{n-m} x^{A+(k(n-m)+1) I} \exp (-\lambda x) Y_{n-m}^{(A, \lambda)}(x ; k)\right)\left(x^{k+1} D\right)^{m} \\
& =\left(x^{A+(n k+1) I} e^{-\lambda x}\right) \prod_{m=0}^{n-1}(x(D-\lambda) I+A+(m k+1) I) .
\end{aligned}
$$

Hence

$$
\sum_{m=0}^{n} \frac{n!}{m!}\left(k^{n-m} x^{-m k} Y_{n-m}^{(A, \lambda)}(x ; k)\right)\left(x^{k+1} D\right)^{m}=\prod_{m=0}^{n-1}(x(D-\lambda) I+A+(m k+1) I)
$$

which proves (2.9).
Theorem 2.7. The following identity for Konhauser matrix polynomials holds true

$$
\begin{equation*}
D^{m}\left[\exp (-\lambda x) Y_{n}^{(A, \lambda)}(x ; k)\right]=(-\lambda)^{m} \exp (-\lambda x) Y_{n}^{(A+m I, \lambda)}(x ; k) \tag{2.14}
\end{equation*}
$$

Proof. Differentiating relation (1.3) with respect to $x$, we have

$$
\begin{aligned}
& \sum_{n=0}^{\infty} D Y_{n}^{(A, \lambda)}(x ; k) t^{n}=\lambda\left[1-(1-t)^{-\frac{1}{k}}\right](1-t)^{-\frac{1}{k}(A+I)} \exp \left[\lambda x\left[1-(1-t)^{\left.-\frac{1}{k}\right]}\right]\right. \\
& =\lambda \sum_{n=0}^{\infty} Y_{n}^{(A, \lambda)}(x ; k) t^{n}-\lambda \sum_{n=0}^{\infty} Y_{n}^{(A+I, \lambda)}(x ; k) t^{n} .
\end{aligned}
$$

Equating the coefficients of $t^{n}$ both sides, we get

$$
D Y_{n}^{(A, \lambda)}(x ; k) t^{n}=\lambda Y_{n}^{(A, \lambda)}(x ; k)-\lambda Y_{n}^{(A+I, \lambda)}(x ; k)
$$

or

$$
\begin{equation*}
[D-\lambda] Y_{n}^{(A, \lambda)}(x ; k)=-\lambda Y_{n}^{(A+I, \lambda)}(x ; k) . \tag{2.15}
\end{equation*}
$$

Using the formula (2.15), we get

$$
\begin{aligned}
& D\left[\exp (-\lambda x) Y_{n}^{(A, \lambda)}(x ; k)\right]=\exp (-\lambda x) D Y_{n}^{(A, \lambda)}(x ; k)-\lambda \exp (-\lambda x) Y_{n}^{(A, \lambda)}(x ; k) \\
& =\exp (-\lambda x)[D-\lambda] Y_{n}^{(A, \lambda)}(x ; k)
\end{aligned}
$$

or

$$
\begin{equation*}
D\left[\exp (-\lambda x) Y_{n}^{(A, \lambda)}(x ; k)\right]=-\lambda \exp (-\lambda x) Y_{n}^{(A+I, \lambda)}(x ; k) \tag{2.16}
\end{equation*}
$$

Repeating operation of $D, m$ times, we get

$$
D^{m}\left[\exp (-\lambda x) Y_{n}^{(A, \lambda)}(x ; k)\right]=(-\lambda)^{m} \exp (-\lambda x) Y_{n}^{(A+m I, \lambda)}(x ; k)
$$

This proves (2.14).
We concluded this investigation by remarking that by obtaining the finite sums, operational formulas and generating matrix relations for Konhauser matrix polynomials of the second kind.

## References

[1] Erkuş-Duman E. and Çekim, B.: New generating functions for Konhauser matrix polynomials. Communications Faculty of Sciences University of Ankara Series A 1: Mathematics and Statistics, Vol. 63, No. 1 (2014), 35-41.
[2] Jódar, L., and Cortés, J.C.: Some properties of Gamma and Beta matrix functions. Appl. Math. Lett., Vol. 11 (1998), 89-93.
[3] Jódar, L., and Cortés, J.C.: On the hypergeometric matrix function. J. Computational Appl. Math., Vol. 99 (1998), 205-217.
[4] Konhauser, J. D. E.: Some properties of biorthogonal polynomials. J. Math. Anal. Appl., Vol. 11 (1965), 242-260.
[5] Konhauser, J. D. E.: Biorthogonal polynomials suggested by the Laguerre polynomials. Pacific J. Math., Vol. 21 (1967), 303-314.
[6] Shehata, A.: Some relations on Konhauser matrix polynomials. Miskolc Mathematical Notes, Vol. 17, No. 1 (2016), 605-633.
[7] Shehata, A.: Certain generating relations of Konhauser matrix polynomials from the view point of Lie algebra method. University Politechnica of Bucharest Scientific Bulletin- series A- Applied mathematics and physics, Vol. 79, No. 4 (2017), 123-136.
[8] Shehata, A.: Some new results for Struve matrix functions. Milan Journal of Mathematics, Vol. 86, No. 1 (2018), pp 81-96.
[9] Shehata, A.: On new extensions of the generalized Hermite matrix polynomials. Acta et Commentationes Universitatis Tartuensis de Mathematica, Vol. 22, No. 2 (2018), 203-222.
[10] Shehata, A.: Some new results for Chebyshev matrix polynomials of first kind. International Bulletin of Mathematical Research, (in Press).
[11] Srivastava, H.M. and Singhal, J.P.: A class of polynomials defined by generalized Rodrigues formula. Ann. Mat. Pura Appl. Vol. 90, No. 4 (1971), 75-85.
[12] Varma, S., Çekim, B., and Taşdelen, F.: On Konhauser matrix polynomials. Ars Combinatoria, Vol. 100 (2011), 193-204.
[13] Varma, S., and Taşdelen, F.: Some properties of Konhauser matrix polynomials. Gazi University Journal of Science, Vol. 29, No. 3 (2016), 703-709.

## Author information

Ayman Shehata, Department of Mathematics, Faculty of Science, Assiut University, Assiut 71516, Egypt. Department of Mathematics, College of Science and Arts, Unaizah, Qassim University, Qassim, Kingdom of Saudi Arabia., Egypt.
E-mail: drshehata2006@yahoo.com
Received: February 23, 2018.
Accepted: December 29, 2018.

